IFB 2023-123 General Road, Reconstruction & Improvements

PRIMARY
SECONDARY

| | | | | Urban Infraconstruction, LLC | | Wopac Construction, Inc. | | an Intraconstruction, LLC Wopac Construction, Inc. | | Tommy G. Ro Contra | |
|--------|---|-----|-----|------------------------------|----------------|--------------------------|-----------------|--|-----------------|-----------------------|--|
| | | | | Total Price | \$3,315,755.00 | Total Price | \$13,148,704.00 | Total Price | \$15,783,700.00 | | |
| Line # | Description | QTY | UOM | Unit | Extended | Unit | Extended | Unit | Extended | | |
| 1 | CATEGORY 1 RECONSTRUCTION/REPAIR - Mobilization (Collin County requests Unit pricing) | 20 | job | No Bid | | \$1,500.00 | \$30,000.00 | \$2,000.00 | \$40,000.00 | | |
| 2 | CATEGORY 1 RECONSTRUCTION/REPAIR - Traffic Signage, Full Road Closure (Collin County requests Unit pricing) | 365 | day | No Bid | | \$300.00 | \$109,500.00 | \$500.00 | \$182,500.00 | | |
| 3 | CATEGORY 1 RECONSTRUCTION/REPAIR - Traffic Signage, Single Lane Closure (Collin County requests Unit pricing) CATEGORY 1 RECONSTRUCTION/REPAIR - Traffic Signage, Each | 365 | day | No Bid | | \$300.00 | \$109,500.00 | \$500.00 | \$182,500.00 | | |
| 4 | Intersecting Road (Collin County requests Unit pricing) | 365 | day | No Bid | | \$100.00 | \$36,500.00 | \$200.00 | \$73,000.00 | | |
| 5 | CATEGORY 1 RECONSTRUCTION/REPAIR - Traffic Control Flagging, (Collin County requests Unit pricing) | 240 | day | No Bid | | \$200.00 | \$48,000.00 | \$400.00 | \$96,000.00 | | |
| 6 | CATEGORY 1 RECONSTRUCTION/REPAIR - 8" Lime stabilized compacted subgrade, (0-100 SY). (Collin County requests Unit pricing) | 25 | ton | No Bid | | \$600.00 | \$15,000.00 | \$2,200.00 | \$55,000.00 | | |
| 7 | CATEGORY 1 RECONSTRUCTION/REPAIR - 8" Lime stabilized compacted subgrade, (101-500 SY). (Collin County requests Unit pricing) | 50 | ton | No Bid | | \$600.00 | \$30,000.00 | \$2,000.00 | \$100,000.00 | | |
| 8 | CATEGORY 1 RECONSTRUCTION/REPAIR - 8" Lime stabilized compacted subgrade, (>500 SY). (Collin County requests Unit pricing) CATEGORY 1 RECONSTRUCTION/REPAIR - Lime stabilized compacted | 500 | ton | No Bid | | \$500.00 | \$250,000.00 | \$1,800.00 | \$900,000.00 | | |
| 9 | subgrade, each additional 1" depth, (0-100 SY) (Collin County requests Unit pricing) | 5 | ton | No Bid | | \$100.00 | \$500.00 | \$275.00 | \$1,375.00 | | |
| 10 | CATEGORY 1 RECONSTRUCTION/REPAIR - Lime stabilized compacted subgrade, each additional 1" depth, (101-500 SY). (Collin County requests Unit pricing) | 10 | ton | No Bid | | \$100.00 | \$1,000.00 | \$250.00 | \$2,500.00 | | |
| 11 | CATEGORY 1 RECONSTRUCTION/REPAIR - Lime stabilized compacted subgrade, each additional 1" depth, (>500 SY). (Collin County requests Unit pricing) | 15 | ton | No Bid | | \$100.00 | \$1,500.00 | \$225.00 | \$3,375.00 | | |
| 12 | CATEGORY 1 RECONSTRUCTION/REPAIR - Compacted Cement Treated Base, Plant Mixed, (0-100 SY). (Collin County requests Unit pricing) | 150 | ton | No Bid | | \$65.00 | \$9,750.00 | \$170.00 | \$25,500.00 | | |
| 13 | CATEGORY 1 RECONSTRUCTION/REPAIR - Compacted Cement Treated Base, Plant Mixed, (101-500 SY). (Collin County requests Unit pricing) | 500 | ton | No Bid | | \$63.00 | \$31,500.00 | \$165.00 | \$82,500.00 | | |

| 14 CATEGORY 1 RECONSTRUCTION/REPAIR - Compacted Cement Treated | | |
|--|--------------|--------------|
| | | |
| Base, Plant Mixed, (>500 SY). (Collin County requests Unit pricing) 3000 ton No Bid \$63.00 \$189,000.00 | \$162.00 \$4 | 486,000.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Select Fill material (0-100 | | |
| CY). (Collin County requests Unit pricing) 100 ton No Bid \$42.00 \$4,200.00 | \$60.00 | \$6,000.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Select Fill material(101-500 | | |
| CY) (Collin County requests Unit pricing) 500 ton No Bid \$42.00 \$21,000.00 | \$60.00 | \$30,000.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Select Fill material (>500 CY). | | |
| (Collin County requests Unit pricing) 1000 ton No Bid \$42.00 \$42,000.00 | \$60.00 | \$60,000.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Compact existing subgrade | | |
| 18 until no movement is visible (0-100 SY) (Collin County requests Unit square | 4 | |
| pricing) 100 yard No Bid \$2.00 \$200.00 | \$3.00 | \$300.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Compact existing subgrade | | |
| 19 until no movement is visible (101-500 SY) (Collin County requests Unit square | 42.00 | ¢4 500 00 |
| pricing) 500 yard No Bid \$2.00 \$1,000.00 | \$3.00 | \$1,500.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Compact existing subgrade | | |
| 20 until no movement is visible (>500 SY) (Collin County requests Unit square | ¢2.00 | ¢00,000,00 |
| pricing) 30000 yard No Bid \$2.00 \$60,000.00 | \$3.00 | \$90,000.00 |
| 21 CATEGORY 1 RECONSTRUCTION/REPAIR - Excavate and Remove cubic | | |
| existing material (0-100 CY) (Collin County requests Unit pricing) 800 yard No Bid \$30.00 \$24,000.00 | \$85.00 | \$68,000.00 |
| existing material (0-100 cr) (comm country requests offic pricing) | \$65.00 | \$08,000.00 |
| 22 CATEGORY 1 RECONSTRUCTION/REPAIR - Excavate and Remove cubic | | |
| existing material (101-500 CY) (Collin County requests Unit pricing) 3500 yard No Bid \$30.00 \$105,000.00 | \$80.00 \$3 | 280,000.00 |
| Constitution 300 cty (Contin County requests offic pricing) 3300 yard 100 bid 350.00 \$103,000.00 | 700.00 J | 280,000.00 |
| 23 CATEGORY 1 RECONSTRUCTION/REPAIR - Excavate and Remove cubic | | |
| existing material (>500 CY) (Collin County requests Unit pricing) 10500 yard No Bid \$26.00 \$273,000.00 | \$75.00 \$ | 787,500.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Compacted Flexible Base, (0- | φ,σ.σσ φ. | 7 07 ,000.00 |
| 74 | \$130.00 | \$32,500.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Compacted Flexible Base | , | , - , |
| | \$120.00 \$: | 120,000.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Compacted Flexible Base. | | |
| 26 (>501 SY). (Collin County requests Unit pricing) 2000 ton No Bid \$43.00 \$86,000.00 | \$100.00 \$3 | 200,000.00 |
| | | |
| 27 CATEGORY 1 RECONSTRUCTION/REPAIR - Stormwater Pollution | | |
| Prevention Plan Preparation (Collin County requests Unit pricing) 3 job No Bid \$0.00 \$0.00 | \$500.00 | \$1,500.00 |
| | | |
| 28 CATEGORY 1 RECONSTRUCTION/REPAIR - Stormwater Pollution | | |
| | 1,000.00 | \$3,000.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Treat existing base with square | | |
| Portland Cement (Collin County requests Unit pricing) 14000 yard No Bid \$13.00 \$182,000.00 | \$27.00 \$3 | 378,000.00 |
| CATEGORY 1 RECONSTRUCTION/REPAIR - Micro-cracking (Collin square | | |
| County requests Unit pricing) 14000 yard No Bid \$0.25 \$3,500.00 | \$3.00 | \$42,000.00 |

| | | | | 1 | 1 | | | _ |
|-----|--|-------|----------------|---------|-------------------|----------------|----------------|----------------------|
| 31 | CATEGORY 1 RECONSTRUCTION/REPAIR - Full Depth Reclamation, up to 8", (101-500 SY). (Collin County requests Unit pricing) | 1000 | square yard | No Bid | \$9.00 | \$9,000.00 | \$20.00 | \$20,000.00 |
| | to a file and a file comment of the file o | 1000 | 70.0 | The Blu | ψ3.00 | φ3,000.00 | \$20.00 | \$20,000.00 |
| 32 | CATEGORY 1 RECONSTRUCTION/REPAIR - Full Depth Reclamation, up | | square | | | | | |
| | to 8", (>500 SY). (Collin County requests Unit pricing) | 70000 | yard | No Bid | \$8.00 | \$560,000.00 | \$10.00 | \$700,000.00 |
| | | | | | | | | |
| 33 | CATEGORY 1 RECONSTRUCTION/REPAIR - Full Depth Reclamation, each | | square | | | | | |
| | additional 2" depth, (101-500 SY). (Collin County requests Unit pricing) | 1000 | yard | No Bid | \$2.00 | \$2,000.00 | \$2.00 | \$2,000.00 |
| | CATEGORY A RECONCERNICATION (REPAIR OF H.D. H.D. H.D. H. | | | | | | | |
| 34 | CATEGORY 1 RECONSTRUCTION/REPAIR - Full Depth Reclamation, each | 70000 | square | No Did | ć1 00 | ć70 000 00 | ¢1.00 | ¢70,000,00 |
| | additional 2" depth, (> 500 SY). (Collin County requests Unit pricing) CATEGORY 1 RECONSTRUCTION/REPAIR - Grind, up to 8" (101-500 SY) | 70000 | yard square | No Bid | \$1.00 | \$70,000.00 | \$1.00 | \$70,000.00 |
| 35 | (Collin County requests Unit pricing) | 1000 | yard | No Bid | \$6.00 | \$6,000.00 | \$15.00 | \$15,000.00 |
| | CATEGORY 1 RECONSTRUCTION/REPAIR - Grind, up to 8" (>500 SY) | 1000 | square | INO DIG | φ0.00 | \$0,000.00 | Ģ13.00 | \$15,000.00 |
| 36 | (Collin County requests Unit pricing) | 70000 | yard | No Bid | \$5.00 | \$350,000.00 | \$5.00 | \$350,000.00 |
| | (· · · · · · · · · · · · · · · · · · · | | ,,,,, | | ,,,,,, | , , | , | , , |
| 37 | CATEGORY 1 RECONSTRUCTION/REPAIR - Grind, each additional 2" | | square | | | | | |
| | depth (101-500 SY) (Collin County requests Unit pricing) | 1000 | yard | No Bid | \$2.00 | \$2,000.00 | \$5.00 | \$5,000.00 |
| | | | | | | | | |
| 38 | CATEGORY 1 RECONSTRUCTION/REPAIR - Grind, each additional 2" | | square | | | | | |
| | depth (>500 SY) (Collin County requests Unit pricing) | 70000 | yard | No Bid | \$1.00 | \$70,000.00 | \$1.00 | \$70,000.00 |
| | CATEGORY 1 RECONSTRUCTION/REPAIR - Remove Soft Subgrade and | | | | | | | |
| 39 | Replace with Compacted Flexible Base - full road width (Collin County | | cubic | | | | | |
| | requests Unit pricing) | 10500 | yard | No Bid | \$105.00 | \$1,102,500.00 | \$261.00 | \$2,740,500.00 |
| 40 | CATEGORY 1 RECONSTRUCTION/REPAIR - Two Course Chip Seal (Collin | 70000 | square | N. S. I | ¢0.20 | ¢574 000 00 | †0.00 | ¢630,000,00 |
| | County requests Unit pricing) | 70000 | yard | No Bid | \$8.20 | \$574,000.00 | \$9.00 | \$630,000.00 |
| 41 | CATEGORY 1 RECONSTRUCTION/REPAIR - Two Course Chip Seal (First Course MC-3000TR) (Collin County requests Unit pricing) | 20000 | square yard | No Bid | \$8.20 | \$164,000.00 | \$10.50 | \$210,000.00 |
| | CATEGORY 1 RECONSTRUCTION/REPAIR - Portland Cement Slurry | 20000 | yaru | INO DIG | Ş8.20 | \$104,000.00 | \$10.50 | \$210,000.00 |
| 42 | (Collin County requests Unit pricing) | 400 | ton | No Bid | \$225.00 | \$90,000.00 | \$400.00 | \$160,000.00 |
| | CATEGORY 1 RECONSTRUCTION/REPAIR - Portland Cement - dry | | | | 7223.00 | φ30,003.00 | ų .55.66 | <i>\$200,000.</i> 00 |
| 43 | placed (Collin County requests Unit pricing) | 400 | ton | No Bid | \$200.00 | \$80,000.00 | \$400.00 | \$160,000.00 |
| 4.4 | CATEGORY 1 RECONSTRUCTION/REPAIR - Hydrated Lime Slurry (Collin | | | | | | | |
| 44 | County requests Unit pricing) | 600 | ton | No Bid | \$185.00 | \$111,000.00 | \$325.00 | \$195,000.00 |
| 45 | CATEGORY 1 RECONSTRUCTION/REPAIR - Hydrated Lime - dry placed | | | | | | | |
| 73 | (Collin County requests Unit pricing) | 600 | ton | No Bid | \$185.00 | \$111,000.00 | \$325.00 | \$195,000.00 |
| | | | | | | | | |
| | CATEGORY 1 TOTAL: | | | | <u>\$6,704.65</u> | \$5,022,800.00 | \$14,945.50 | \$9,853,050.00 |
| 46 | CATEGORY 2 ASPHALT PAVING - Mobilization (Collin County requests | | | | | | | |
| | Unit pricing) | 5 | job | No Bid | \$1,500.00 | \$7,500.00 | \$1,500.00 | \$7,500.00 |
| 47 | CATEGORY 2 ASPHALT PAVING - Traffic Signage, Full Road Closure | 4.0 | | N. 8:1 | 4000.50 | 442.000.00 | 4=00.0= | 420 222 23 |
| | (Collin County requests Unit pricing) | 40 | day | No Bid | \$300.00 | \$12,000.00 | \$500.00 | \$20,000.00 |

| 40 | ı | CATEGORY 2 ASPHALT PAVING - Traffic Signage, Single Lane Closure | | | 1 | | | | |
|---|-----|--|-------|---------|---------------------------------------|-----------------|--------------------|-----------------|------------------|
| ACTECORY 2 ASPHALT PAVING - Traffic Signage, Each Intersecting Road 40 49 40 49 510.00 54.000.00 520.00 58.000.00 50.00 50.00.00 5 | 48 | 5 5 7 5 | 40 | dav | No Bid | \$300.00 | \$12,000,00 | \$500.00 | \$20,000,00 |
| 40 day No Bild \$100.00 \$4,000.00 \$200.00 \$8,000.00 \$9,000.00 \$0,000.00 | | · · · · · · · · · · · · · · · · · · · | 70 | aay | THO BIG | \$300.00 | Ģ12,000.00 | \$300.00 | \$20,000.00 |
| CATEGORY 2 ASPHALT PAVING - HMAC Planing (Milling), up to 2", (101- SOUND SOUN | 49 | | 40 | dav | No Bid | \$100.00 | \$4,000,00 | \$200.00 | \$8,000.00 |
| Second | | | 10 | aay | l l l l l l l l l l l l l l l l l l l | Ψ100.00 | ψ 1,000.00 | γ200.00 | φο,σσσ.σσ |
| CATEGORY 2 ASPHALT PAVING - HMAC Planing (Milling), up to 2", (101- | 50 | | 40 | day | No Bid | \$200.00 | \$8,000,00 | \$400.00 | \$16,000,00 |
| 100 SY), [Collin Country requests Unit pricing 500 Sy), [Collin Country requests U | | , | 10 | • | The Blu | Ψ200.00 | ψο,σσσ.σσ | ψ 100.00 | Ψ10,000.00 |
| CATEGORY 2 ASPHALT PAVING - HMAC Planing (Milling), up to 2", (101-505 S) (101), (101) (| 51 | | 300 | • | No Bid | \$7.00 | \$2,100,00 | \$7.00 | \$2,100,00 |
| Soo Sy), (Collin Country requests Unit pricing) Soo Sy), (Collin Country requests Unit prici | | , | | • | l l l l l l l l l l l l l l l l l l l | ψ1.00 | Ψ <u>2</u> ,100.00 | γ1.00 | Ψ2,100.00 |
| CATEGORY 2 ASPHALT PAVING - HMAC Planing (Milling), up to 2", square additional 1" depth, (0-100 SY), (Collin County requests Unit pricing) 300 yard No Bid \$4.50 \$90,000.00 \$5.05 \$101,000.00 \$5.05 \$101,000.00 \$5.05 \$101,000.00 \$5.05 \$101,000.00 \$5.05 \$101,000.00 \$5.05 \$101,000.00 \$5.05 \$101,000.00 \$5.05 \$101,000.00 \$5.05 \$101,000.00 \$5.05 \$101,000.00 \$5.05 \$5.05 \$101,000.00 \$5.05 \$5.05 \$101,000.00 \$5.05 \$5.05 \$101,000.00 \$5.05 \$5.05 \$101,000.00 \$5.05 \$5.05 \$101,000.00 \$5.05 \$5.05 \$101,000.00 \$5.05 \$5.05 \$1.000.00 \$5.05 \$5.05 \$1.000.00 \$5.05 \$5.05 \$1.000.00 \$5.05 \$5.05 \$5.05 \$1.000.00 \$5.05 \$5.05 \$5.05 \$1.000.00 \$5.05 | 52 | | | • | No Bid | \$7.00 | \$3,500,00 | \$7.00 | \$3,500,00 |
| Solition | | , | 300 | | THO BIG | ψ1.00 | 43,300.00 | 77.00 | \$3,300.00 |
| 54 CATEGORY 2 ASPHALT PAVING - HMAC Planing (Milling), each additional 1" depth, (0-100 SY). (Collin Country requests Unit pricing) 300 yard No Bid \$2.00 \$500.00 \$3.00 \$900.00 \$5.00 \$0.00 \$5.00 \$900.00 \$5.00 \$9.00 \$900.00 \$5.00 \$900.00 \$900.00 \$5.00 \$900.00 | 53 | | 20000 | | No Bid | \$4.50 | \$90,000,00 | \$5.05 | \$101 000 00 |
| additional 1" depth, (0-100 SY). (Collin County requests Unit pricing) 300 yard No Bid \$2.00 \$600.00 \$3.00 \$900.00 \$50 | | (2500 51). (comit county requests officing) | 20000 | yuru | livo Biu | ў 4.30 | \$50,000.00 | 43.03 | \$101,000.00 |
| additional 1" depth, (0-100 SY). (Collin County requests Unit pricing) 300 yard No Bid \$2.00 \$600.00 \$3.00 \$900.00 \$50 | 5/1 | CATEGORY 2 ASPHALT PAVING - HMAC Planing (Milling), each | | callare | | | | | |
| 55 CATEGORY 2 ASPHALT PAVING - HMAC Planing (Milling), each additional 1" depth, (201-500 SY), (Collin County requests Unit pricing) 56 CATEGORY 2 ASPHALT PAVING - HMAC Planing (Milling), each additional 1" depth, (>500 SY), (Collin County requests Unit pricing) 57 CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (101-500 SY) (Collin County requests Unit pricing) 58 CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (101-500 SY) (Collin County requests Unit pricing) 59 CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (101-500 SY) (Collin County requests Unit pricing) 60 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" depth, (0-100 SY) (Collin County requests Unit pricing) 61 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" depth, (10-500 SY) (Collin County requests Unit pricing) 62 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" depth, (10-500 SY) (Collin County requests Unit pricing) 63 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" depth, (10-500 SY) (Collin County requests Unit pricing) 64 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" depth, (10-500 SY) (Collin County requests Unit pricing) 65 CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (101-500 SY). (Collin County requests Unit pricing) 66 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" depth, (10-500 SY). (Collin County requests Unit pricing) 67 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (101-500 SY). (Collin Square County requests Unit pricing) 68 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (101-500 SY). (Collin Square County requests Unit pricing) 69 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (10-100 SY). (Collin County requests Unit pricing) 60 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (10-100 SY). (Collin County requests Unit pricing) 61 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (10-100 SY). (Collin County requests Unit pricing) 62 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each ad | 34 | | 300 | | No Bid | \$2.00 | \$600.00 | \$3.00 | \$900.00 |
| additional 1" depth, (101-500 SY). (Collin County requests Unit pricing) 500 yard No Bid \$2.00 \$1,000.00 \$3.00 \$1,500.00 \$3.00 \$1,500.00 \$50.0 | | additional 1 depth, (o 100 51). (comm county requests only pricing) | 300 | yaru | INO BIG | ٧2.00 | \$000.00 | \$3.00 | \$300.00 |
| additional 1" depth, (101-500 SY). (Collin County requests Unit pricing) 500 yard No Bid \$2.00 \$1,000.00 \$3.00 \$1,500.00 \$3.00 \$1,500.00 \$50.0 | | CATEGORY 2 ASPHALT BAVING - HMAC Planing (Milling), each | | callara | | | | | |
| 56 CATEGORY 2 ASPHALT PAVING - HMAC Planing (Milling), each additional 1" depth, (>500 SY). (Collin County requests Unit pricing) 57 CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (0-100 SY) (Collin County requests Unit pricing) 58 CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (101-500 SY) (Collin County requests Unit pricing) 59 CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (500 SY) (Collin County requests Unit pricing) 60 CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (500 SY) (Collin County requests Unit pricing) 61 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" square depth, (101-500 SY) (Collin County requests Unit pricing) 62 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" square depth, (500 SY) (Collin County requests Unit pricing) 63 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" square depth, (101-500 SY) (Collin County requests Unit pricing) 64 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" square depth, (500 SY) (Collin County requests Unit pricing) 65 CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" square depth, (500 SY) (Collin County requests Unit pricing) 66 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (500 SY). (Collin County requests Unit pricing) 67 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (500 SY). (Collin Square depth, (500 SY). (Collin County requests Unit pricing) 68 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (500 SY). (Collin Square depth, (500 SY). (Collin County requests Unit pricing) 69 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (500 SY). (Collin Square depth, (500 SY). (Collin County requests Unit pricing) 60 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (500 SY). (Collin County requests Unit pricing) 60 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (500 SY). (Collin County requests Unit pricing) 61 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (500 SY). (Collin County requests Unit pricing) 62 CATEGORY 2 ASPHALT PAVING - | 33 | | E00 | • | No Pid | \$2.00 | \$1,000,00 | ¢2.00 | \$1.500.00 |
| additional 1" depth, (>500 SY). (Collin County requests Unit pricing) 20000 yard No Bid \$2.00 \$40,000.00 \$1.95 \$39,000.00 \$5.00.0 | | additional 1 depth, (101-300 31). (Collin County requests offit pricing) | 300 | yaru | INO BIG | \$2.00 | \$1,000.00 | \$3.00 | \$1,500.00 |
| additional 1" depth, (>500 SY). (Collin County requests Unit pricing) 20000 yard No Bid \$2.00 \$40,000.00 \$1.95 \$39,000.00 \$5.00.0 | F.C | CATECORY 2 ACREAT DAVING HAMAC Planing (Milling) cach | | canara | | | | | |
| CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (0-100 SY) (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (101-500 SY) (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (>500 SY) (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (>500 SY) (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" Square depth, (0-100 SY) (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" Square depth, (0-100 SY) (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" Square depth, (>500 SY) (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" Square depth, (>500 SY) (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" Square depth, (>500 SY) (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (0-100 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (101-500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (101-500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (101-500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (0-100 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (0-100 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each addition | 50 | | 20000 | • | No Did | ¢2.00 | ¢40,000,00 | Ć1 OF | ¢20,000,00 |
| Solid Category 2 ASPHALT PAVING - Type B HMAC, 2", (101-500 SY) (Collin County requests Unit pricing) Solid Square Category 2 ASPHALT PAVING - Type B HMAC, 2", (2500 SY) (Collin Square County requests Unit pricing) Solid Square Category 2 ASPHALT PAVING - Type B HMAC, each additional 1" Square depth, (101-500 SY) (Collin County requests Unit pricing) Solid Square depth, (101-500 SY) (Collin County requests Unit pricing) Solid Square depth, (101-500 SY) (Collin County requests Unit pricing) Solid Square depth, (101-500 SY) (Collin County requests Unit pricing) Solid Square depth, (101-500 SY) (Collin County requests Unit pricing) Solid Square depth, (101-500 SY) (Collin County requests Unit pricing) Solid Square depth, (101-500 SY) (Collin County requests Unit pricing) Solid Square (Solid Square County requests Unit | | | 20000 | | INO BIO | \$2.00 | \$40,000.00 | \$1.95 | \$39,000.00 |
| CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (101-500 SY) (Collin County requests Unit pricing) 1000 yard No Bid 14.00 \$14,000.00 \$26,000.00 \$2 | 57 | | F00 | • | N- Did | Ċ14.00 | ć7 000 00 | ¢20.00 | ¢45 000 00 |
| County requests Unit pricing) 1000 yard square County requests Unit pricing) 20000 yard depth, (0-100 SY)(Collin County requests Unit pricing) 500 yard depth, (0-100 SY)(Collin County requests Unit pricing) 500 yard depth, (10-100 SY)(Collin County requests Unit pricing) 500 yard depth, (10-100 SY)(Collin County requests Unit pricing) 500 yard depth, (10-10-500 SY) (Collin County requests Unit pricing) 1000 yard depth, (10-10-500 SY) (Collin County requests Unit pricing) 20000 yard depth, (10-10-500 SY) (Collin County requests Unit pricing) 20000 yard depth, (5-500 SY) (Collin County requests Unit pricing) 20000 yard depth, (5-500 SY) (Collin County requests Unit pricing) 20000 yard Square County requests Unit pricing) 300 yard Square CateGory 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (10-100 SY). (Collin County requests Unit pricing) 300 yard Square CateGory 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (10-100 SY). (Collin County requests Unit pricing) 300 yard Square | | | 500 | • | INO RIG | \$14.00 | \$7,000.00 | \$30.00 | \$15,000.00 |
| CATEGORY 2 ASPHALT PAVING - Type B HMAC, 2", (>500 SY) (Collin County requests Unit pricing) 20000 yard depth, (0-100 SY)(Collin County requests Unit pricing) 500 yard depth, (0-100 SY)(Collin County requests Unit pricing) 500 yard depth, (0-100 SY)(Collin County requests Unit pricing) 500 yard depth, (0-100 SY)(Collin County requests Unit pricing) 500 yard depth, (101-500 SY) (Collin County requests Unit pricing) 1000 yard depth, (101-500 SY) (Collin County requests Unit pricing) 20000 yard depth, (>500 SY) (Collin County requests Unit pricing) 20000 yard depth, (>500 SY) (Collin County requests Unit pricing) 20000 yard No Bid 514.00 \$4,200.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$10. | 58 | •• | 1000 | | N - Did | ć14.00 | ¢4.4.000.00 | ¢26.00 | ¢26,000,00 |
| CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" square depth, (0-100 SY) (Collin County requests Unit pricing) 500 yard depth, (0-100 SY) (Collin County requests Unit pricing) 500 yard depth, (0-100 SY) (Collin County requests Unit pricing) 500 yard depth, (0-100 SY) (Collin County requests Unit pricing) 1000 yard depth, (101-500 SY) (Collin County requests Unit pricing) 1000 yard depth, (101-500 SY) (Collin County requests Unit pricing) 20000 yard depth, (>56.00 \$6,000.00 \$13.00 \$13.00 \$13.00.00 \$10.50 | | · · · · · · · · · · · · · · · · · · · | 1000 | | INO BIO | \$14.00 | \$14,000.00 | \$26.00 | \$26,000.00 |
| CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" square depth, (0-100 SY)(Collin County requests Unit pricing) 500 yard No Bid \$6.00 \$3,000.00 \$15.00 \$7,500.00 \$15.00 \$7,500.00 \$10.00 \$15 | 59 | | 20000 | • | N. D. I | ć4.4.00 | ¢200 000 00 | ć24 00 | ¢420.000.00 |
| depth, (0-100 SY)(Collin County requests Unit pricing) 500 yard depth, (101-500 SY) (Collin County requests Unit pricing) 1000 yard square depth, (120-500 SY) (Collin County requests Unit pricing) 20000 yard No Bid \$6.00 \$120,000.00 \$13.00 \$13,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$10. | | , | 20000 | | INO RIG | \$14.00 | \$280,000.00 | \$21.00 | \$420,000.00 |
| CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" square depth, (101-500 SY) (Collin County requests Unit pricing) 1000 yard depth, ()500 SY) (Collin County requests Unit pricing) 20000 yard depth, ()500 SY) (Collin County requests Unit pricing) 20000 yard No Bid \$6.00 \$120,000.00 \$13.00 \$13,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$10 | 60 | •• | 500 | | N. D. I | ¢c.00 | ¢2,000,00 | 645.00 | 47 500 00 |
| depth, (101-500 SY) (Collin County requests Unit pricing) 1000 yard depth, (>500 SY) (Collin County requests Unit pricing) 20000 yard depth, (>500 SY) (Collin County requests Unit pricing) 20000 yard CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (0-100 SY). (Collin County requests Unit pricing) 300 yard CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (101-500 SY). (Collin County requests Unit pricing) 300 yard CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin County requests Unit pricing) 300 yard CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin County requests Unit pricing) 20000 yard CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin County requests Unit pricing) 20000 yard CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square County requests Unit pricing) 20000 yard CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (0-100 SY). (Collin County requests Unit pricing) 300 yard depth, (0-100 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard depth, (101-500 SY). (Collin County requests Unit pricing) 300 y | | · · · · · · · · · · · · · · · · · · · | 500 | | No Bia | \$6.00 | \$3,000.00 | \$15.00 | \$7,500.00 |
| CATEGORY 2 ASPHALT PAVING - Type B HMAC, each additional 1" square depth, (>500 SY) (Collin County requests Unit pricing) 20000 yard No Bid \$6.00 \$120,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 \$210,000.00 \$10.50 | 61 | ••• | | • | | | | | |
| 62 depth, (>500 SY) (Collin County requests Unit pricing) 20000 yard No Bid \$6.00 \$120,000.00 \$10.50 \$210,000.00 63 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (0-100 SY). (Collin County requests Unit pricing) 300 yard No Bid \$14.00 \$4,200.00 \$26.00 \$7,800.00 64 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (101-500 SY). (Collin County requests Unit pricing) 300 yard No Bid \$14.00 \$4,200.00 \$24.00 \$7,200.00 65 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin County requests Unit pricing) 20000 yard square depth, (0-100 SY). (Collin County requests Unit pricing) No Bid \$14.00 \$280,000.00 \$21.00 \$420,000.00 66 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" depth, (0-100 SY). (Collin County requests Unit pricing) 300 yard square depth, (101-500 SY). (Collin County requests Unit pricing) No Bid \$6.00 \$1,800.00 \$13.00 \$3,900.00 68 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard square square square depth, (101-500 SY). (Collin County requests Unit pricing) No Bid \$6.00 \$1,800.00 \$13.00 \$3,900.00 | | , | 1000 | • | No Bid | \$6.00 | \$6,000.00 | \$13.00 | \$13,000.00 |
| CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (0-100 SY). (Collin Square County requests Unit pricing) 300 yard No Bid \$14.00 \$4,200.00 \$26.00 \$7,800.00 \$7,800.00 \$7 | 62 | •• | | • | | | | | |
| County requests Unit pricing) 63 County requests Unit pricing) 64 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (101-500 SY). (Collin County requests Unit pricing) 65 CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin Square County requests Unit pricing) 66 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (0-100 SY). (Collin County requests Unit pricing) 67 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (101-500 SY). (Collin County requests Unit pricing) 68 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (101-500 SY). (Collin County requests Unit pricing) 69 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (101-500 SY). (Collin County requests Unit pricing) 60 CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (101-500 SY). (Collin County requests Unit pricing) 61 Square depth, (101-500 SY). (Collin County requests Unit pricing) 62 Square depth, (101-500 SY). (Collin County requests Unit pricing) 63 Square depth, (101-500 SY). (Collin County requests Unit pricing) 64 Square depth, (101-500 SY). (Collin County requests Unit pricing) 65 Square depth, (101-500 SY). (Collin County requests Unit pricing) 66 Square depth, (101-500 SY). (Collin County requests Unit pricing) 67 Square depth, (101-500 SY). (Collin County requests Unit pricing) 68 Square depth, (101-500 SY). (Collin County requests Unit pricing) 69 Square depth, (101-500 SY). (Collin County requests Unit pricing) 70 Square depth, (101-500 SY). (Collin County requests Unit pricing) 71 Square depth, (101-500 SY). (Collin County requests Unit pricing) 72 Square depth, (101-500 SY). (Collin County requests Unit pricing) 73 Square depth, (101-500 SY). (Collin County requests Unit pricing) 74 Square depth (101-500 SY). (Collin County requests Unit pricing) 75 Square depth (101-500 SY). (Collin County requests Unit pricing) 75 Square depth (101-500 SY). (Collin County requests Unit pricing) 75 Square | | · · · · · · · · · · · · · · · · · · · | 20000 | | No Bid | \$6.00 | \$120,000.00 | \$10.50 | \$210,000.00 |
| CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (101-500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (0-100 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (101-500 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (101-500 SY). (Collin County requests Unit pricing) Square | 63 | · · · · · · · · · · · · · · · · · · · | | | | | | | |
| County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin Square County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (0-100 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (101-500 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (101-500 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" Square depth, (101-500 SY). (Collin County requests Unit pricing) Square Square Square Square depth, (101-500 SY). (Collin County requests Unit pricing) Square Squ | | , | 300 | • | No Bid | \$14.00 | \$4,200.00 | \$26.00 | \$7,800.00 |
| CATEGORY 2 ASPHALT PAVING - Type D HMAC, 2", (>500 SY). (Collin Square depth, (0-100 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard No Bid \$14.00 \$4,200.00 \$24.00 \$7,200.00 \$20000 yard No Bid \$14.00 \$280,000.00 \$21.00 \$420,000.00 \$21.00 \$420,000.00 \$200.00 | 64 | | | • | | | | | |
| CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (0-100 SY). (Collin County requests Unit pricing) 300 yard ho Bid \$14.00 \$280,000.00 \$21.00 \$420,000.00 \$21.00 | _ | · · · · · · · · · · · · · · · · · · · | 300 | | No Bid | \$14.00 | \$4,200.00 | \$24.00 | \$7,200.00 |
| County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (0-100 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (101-500 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square depth, (101-500 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square | 65 | *** | | • | | | | | |
| depth, (0-100 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" cATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square | | | 20000 | yard | No Bid | \$14.00 | \$280,000.00 | \$21.00 | \$420,000.00 |
| depth, (0-100 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" depth, (101-500 SY). (Collin County requests Unit pricing) CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" square Square | 66 | CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" | | square | | | | | |
| depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard No Bid \$6.00 \$1,800.00 \$1,800.00 \$3,900.00 | | depth, (0-100 SY). (Collin County requests Unit pricing) | 300 | yard | No Bid | \$6.00 | \$1,800.00 | \$15.00 | \$4,500.00 |
| depth, (101-500 SY). (Collin County requests Unit pricing) 300 yard No Bid \$1,800.00 \$1,800.00 \$13.00 \$3,900.00 \$3,900.00 \$1,800.00 | 67 | CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" | | square | | | | | |
| 60 | 07 | depth, (101-500 SY). (Collin County requests Unit pricing) | 300 | yard | No Bid | \$6.00 | \$1,800.00 | \$13.00 | \$3,900.00 |
| depth, (>500 SY). (Collin County requests Unit pricing) 20000 yard No Bid \$6.00 \$120,000.00 \$10.50 \$210,000.00 | 68 | CATEGORY 2 ASPHALT PAVING - Type D HMAC, each additional 1" | | square | | | | | |
| | 00 | depth, (>500 SY). (Collin County requests Unit pricing) | 20000 | yard | No Bid | \$6.00 | \$120,000.00 | \$10.50 | \$210,000.00 |

| | CATEGORY 2 ASPHALT PAVING - Seal Coat, CRS-2 (0-100 SY) (Collin | | square | | | | | | |
|-----|--|---------|-------------|-------------|----------------|-------------------|----------------|------------|----------------|
| 69 | County requests Unit pricing) | 250 | yard | No Bid | | \$4.20 | \$1,050.00 | \$6.00 | \$1,500.00 |
| | CATEGORY 2 ASPHALT PAVING - Seal Coat, CRS-2 (101-500 SY). (Collin | 200 | square | 110 210 | | ψ23 | φ 2,000.00 | φο.σσ | Ψ2)300.00 |
| 70 | County requests Unit pricing) | 500 | yard | No Bid | | \$4.20 | \$2,100.00 | \$5.50 | \$2,750.00 |
| 71 | CATEGORY 2 ASPHALT PAVING - Seal Coat, CRS-2 (>500 SY). (Collin | | square | | | | | | |
| 71 | County requests Unit pricing) | 300000 | yard | No Bid | | \$4.20 | \$1,260,000.00 | \$4.50 | \$1,350,000.00 |
| 72 | CATEGORY 2 ASPHALT PAVING - Seal Coat, AC-10 (0-100 SY) (Collin | | square | | | | | | |
| 12 | County requests Unit pricing) | 250 | yard | No Bid | | \$4.20 | \$1,050.00 | \$7.00 | \$1,750.00 |
| 73 | CATEGORY 2 ASPHALT PAVING - Seal Coat, AC-10 (101-500 SY). (Collin | | square | | | | | | |
| , 3 | County requests Unit pricing) | 500 | • | No Bid | | \$4.20 | \$2,100.00 | \$6.50 | \$3,250.00 |
| 74 | CATEGORY 2 ASPHALT PAVING - Seal Coat, AC-10 (>500 SY). (Collin | | square | | | | | | |
| | County requests Unit pricing) | 300000 | yard | No Bid | | \$4.20 | \$1,260,000.00 | \$5.00 | \$1,500,000.00 |
| | | | | | | | | | |
| | CATEGORY 2 TOTAL: | | | | | <u>\$2,569.70</u> | \$3,549,000.00 | \$3,386.50 | \$4,423,650.00 |
| 75 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Mobilization | | | | | | | | |
| /3 | (Collin County requests Unit pricing) | 5 | job | \$25,000.00 | \$125,000.00 | \$2,500.00 | \$12,500.00 | No Bid | |
| | | | | | | | | | |
| 76 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Traffic Control, | | | | | | | | |
| | Full Road Closure (Collin County requests Unit pricing) | 40 | day | \$700.00 | \$28,000.00 | \$400.00 | \$16,000.00 | No Bid | |
| | | | | | | | | | |
| 77 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Traffic Control, | •• | | 4500.00 | 400 000 00 | 4.00.00 | 445 000 00 | | |
| | Single Lane Closure (Collin County requests Unit pricing) | 40 | day | \$500.00 | \$20,000.00 | \$400.00 | \$16,000.00 | No Bid | |
| 78 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Traffic Control, | | | | | | | | |
| /8 | Each Intersecting Road (Collin County requests Unit pricing) | 40 | day | \$800.00 | \$32,000.00 | \$200.00 | \$8,000.00 | No Rid | |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Traffic Control | 40 | uay | \$800.00 | Ç32,000.00 | \$200.00 | \$8,000.00 | NO DIU | |
| 79 | Flagging, (Collin County requests Unit pricing) | 40 | day | \$800.00 | \$32,000.00 | \$200.00 | \$8,000.00 | No Bid | |
| | Trabbino, (comin country requests onto promise) | | <i>uu</i> , | φοσοίσο | ψοΞ,σσσ.σσ | Ψ200.00 | φο,σσσ.σσ | | |
| 80 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - 4" PCC Drive | | square | | | | | | |
| | Approach, (0-100 SY). (Collin County requests Unit pricing) | 200 | yard | \$170.00 | \$34,000.00 | \$78.00 | \$15,600.00 | No Bid | |
| | | | | | | | | | |
| 81 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - 4" PCC Drive | | square | | | | | | |
| | Approach, (101-500 SY). (Collin County requests Unit pricing) | 250 | yard | \$130.00 | \$32,500.00 | \$78.00 | \$19,500.00 | No Bid | |
| | | | | | | | | | |
| 82 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - 4" PCC Drive | | square | | | | | | |
| | Approach, (>500 SY). (Collin County requests Unit pricing) | 500 | yard | \$100.00 | \$50,000.00 | \$78.00 | \$39,000.00 | No Bid | |
| 83 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - 6" PCC | | square | | | | | | |
| | Pavement, (0-100 SY). (Collin County requests Unit pricing) | 200 | yard | \$160.00 | \$32,000.00 | \$82.00 | \$16,400.00 | No Bid | |
| 84 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - 6" PCC | 750 | square | 4400.55 | 407 700 77 | 400.50 | 464 700 77 | N. 5' I | |
| | Pavement, (101-500 SY). (Collin County requests Unit pricing) | 750 | yard | \$130.00 | \$97,500.00 | \$82.00 | \$61,500.00 | No Bid | |
| 85 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - 6" PCC | 1.44.00 | square | 400.00 | ¢4 200 000 00 | 404.60 | ¢4.442.400.00 | N - Di-l | |
| | Pavement, (>500 SY). (Collin County requests Unit pricing) | 14100 | yard | \$90.00 | \$1,269,000.00 | \$81.00 | \$1,142,100.00 | NO RIG | |

| I | | | | | | | | ı |
|-----|---|-------|--------|---------|---|-----------|--------------------|--------|
| 86 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - PCC Pavement, | | square | | | | | |
| 00 | each additional inch, (0-100 SY)(Collin County requests Unit pricing) | 200 | yard | \$40.00 | \$8,000.00 | \$4.00 | \$800.00 | No Bid |
| | | | 70 | φ.0.00 | φο,σσσ.σσ | φσσ | φοσοισσ | |
| 87 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - PCC Pavement, | | square | | | | | |
| | each additional inch, (101-500 SY) (Collin County requests Unit pricing) | 750 | yard | \$30.00 | \$22,500.00 | \$4.00 | \$3,000.00 | No Bid |
| | , | | • | · | . , | | | |
| 88 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - PCC Pavement, | | square | | | | | |
| | each additional inch, (>500 SY) (Collin County requests Unit pricing) | 14100 | yard | \$20.00 | \$282,000.00 | \$3.50 | \$49,350.00 | No Bid |
| | | | | | | | | |
| 89 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Concrete Saw | | linear | | | | | |
| | Cutting, min 2" (0-100 LF). (Collin County requests Unit pricing) | 500 | foot | \$10.00 | \$5,000.00 | \$6.00 | \$3,000.00 | No Bid |
| | | | | | | | | |
| 90 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Concrete Saw | | linear | | | | | |
| | Cutting, min 2", (101-1000 LF). (Collin County requests Unit pricing) | 2000 | foot | \$5.00 | \$10,000.00 | \$6.00 | \$12,000.00 | No Bid |
| | | | | | | | | |
| 91 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Concrete Saw | | linear | | | | | |
| | Cutting, min 2", (>1000 LF). (Collin County requests Unit pricing) | 4000 | foot | \$3.00 | \$12,000.00 | \$6.00 | \$24,000.00 | No Bid |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Integral | | | | | | | |
| 92 | Concrete Curb and Gutter, (0-100 LF) (Collin County requests Unit | | linear | | | | | |
| | pricing) | 500 | foot | \$20.00 | \$10,000.00 | \$28.00 | \$14,000.00 | No Bid |
| 00 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Integral | | li | | | | | |
| 93 | Concrete Curb and Gutter, (101-500 LF) (Collin County requests Unit | 750 | linear | Ć4F 00 | ć11 250 00 | ć20.00 | ¢24,000,00 | N- Did |
| | pricing) CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Integral | 750 | foot | \$15.00 | \$11,250.00 | \$28.00 | \$21,000.00 | No Ria |
| 94 | <u> </u> | | linear | | | | | |
| 94 | Concrete Curb and Gutter, (>500 LF) (Collin County requests Unit pricing) | 4000 | foot | \$10.00 | \$40,000.00 | \$28.00 | \$112,000.00 | No Pid |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Demo and | 4000 | 1000 | \$10.00 | 340,000.00 | \$28.00 | \$112,000.00 | NO BIG |
| 95 | Remove Existing Concrete Pavement, up to 6" thickness, (0-100 SY) | | square | | | | | |
| 33 | (Collin County requests Unit pricing) | 250 | yard | \$75.00 | \$18,750.00 | \$30.00 | \$7,500.00 | No Rid |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Demo and | 230 | yara | 775.00 | ψ10,730.00 | | ψ <i>τ</i> ,300.00 | |
| 96 | Remove Existing Concrete Pavement, up to 6" thickness, (101-500 SY). | | square | | | | | |
| | (Collin County requests Unit pricing) | 500 | yard | \$40.00 | \$20,000.00 | \$30.00 | \$15,000.00 | No Bid |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Demo and | | , | , | , ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | , , , , , | ,, | |
| 97 | Remove Existing Concrete Pavement, up to 6" thickness, (>500 SY). | | square | | | | | |
| | (Collin County requests Unit pricing) | 1500 | yard | \$25.00 | \$37,500.00 | \$29.00 | \$43,500.00 | No Bid |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Demo and | | | | | | | |
| 98 | Remove Existing Concrete Pavement, each additional 1" depth, (0-100 | | square | | | | | |
| | SY). (Collin County requests Unit pricing) | 250 | yard | \$20.00 | \$5,000.00 | \$3.00 | \$750.00 | No Bid |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Demo and | | | | | | | |
| 99 | Remove Existing Concrete Pavement, each additional 1" depth, (101- | | square | | | | | |
| | 500 SY). (Collin County requests Unit pricing) | 500 | yard | \$15.00 | \$7,500.00 | \$3.00 | \$1,500.00 | No Bid |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Demo and | | | | | | | |
| 100 | Remove Existing Concrete Pavement, each additional 1" depth, (>500 | | square | | | | | |
| | SY). (Collin County requests Unit pricing) | 1500 | yard | \$10.00 | \$15,000.00 | \$3.00 | \$4,500.00 | No Bid |

| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Compact | | | | | | | | |
|-------|--|-------|--------|-------------|----------------|-------------------|---------------------|------------|--------------|
| 101 | existing subgrade until no movement is visible (0-100 SY) (Collin County | | square | | | | | | |
| | requests Unit pricing) | 1000 | yard | \$10.00 | \$10,000.00 | \$4.00 | \$4,000.00 | No Bid | |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Compact | | | | | | | | |
| 102 | existing subgrade until no movement is visible (101-500 SY) (Collin | | square | | | | | | |
| | County requests Unit pricing) | 1000 | yard | \$7.00 | \$7,000.00 | \$4.00 | \$4,000.00 | No Bid | |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Compact | | | | | | | | |
| 103 | existing subgrade until no movement is visible (>500 SY) (Collin County | | square | | | | | | |
| | requests Unit pricing) | 14100 | yard | \$5.00 | \$70,500.00 | \$3.00 | \$42,300.00 | No Bid | |
| 104 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Remove and | | cubic | | | | | | |
| 104 | Replace Existing Base (Collin County requests Unit pricing) | 5000 | yard | \$185.00 | \$925,000.00 | \$105.00 | \$525,000.00 | No Bid | |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Additional Cost | | | | | | | | |
| 105 | per square yard to place High Early Strength Concrete (0-6 inches) | | square | | | | | | |
| | (Collin County requests Unit pricing) | 1000 | yard | \$10.00 | \$10,000.00 | \$10.00 | \$10,000.00 | No Bid | |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Stormwater | | | | | | | | |
| 106 | Pollution Prevention Plan Preparation (Collin County requests Unit | | | | | | | | |
| | pricing) | 3 | job | \$6,000.00 | \$18,000.00 | \$1,200.00 | \$3,600.00 | No Bid | |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Stormwater | | | | | | | | |
| 107 | Pollution Prevention Plan Implementation (Collin County requests Unit | | | | | | | | |
| | pricing) | 3 | job | \$6,000.00 | \$18,000.00 | \$1,500.00 | \$4,500.00 | No Bid | |
| 400 | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING -Fee for single | | | | | | | | |
| 108 | concrete placement of less than six CY | 1 | each | \$750.00 | \$750.00 | \$500.00 | \$500.00 | No Bid | |
| | CATEGORY 3 PORTLAND CEMENT CONCRETE PAVING - Additional Cost | | | | | | | | |
| 109 | per square yard each additional inch over 6 inches for High Early | | square | | | | | | |
| | Strength Concrete (Collin County requests Unit pricing) | 1 | yard | \$5.00 | \$5.00 | \$4.00 | \$4.00 | No Bid | |
| | Strength concrete (comm country requests offic pricing) | | yaru | \$5.00 | 75.00 | Ş4.00 | Ş 4 .00 | NO DIG | |
| | | | | | | | | | |
| | CATEGORY 3 TOTAL: | | | \$41,890.00 | \$3,315,755.00 | <u>\$7,720.50</u> | \$2,260,404.00 | | |
| 110 | CATEGORY 4 STREET CLEANING - Mobilization (Collin County requests | | | | | | | | |
| 110 | Unit pricing) | 5 | job | No Bid | | \$1,500.00 | \$7,500.00 | \$500.00 | \$2,500.00 |
| 111 | CATEGORY 4 STREET CLEANING - Street Sweeping, (>500 SY) (Collin | | square | | | | | | |
| 111 | County requests Unit pricing) | 30000 | yard | No Bid | | \$2.00 | \$60,000.00 | \$2.00 | \$60,000.00 |
| | CATEGORY 4 STREET CLEANING - Vacuum Truck, Material Pick Up and | | square | | | | | | |
| 112 | Disposal, (>500 SY) (Collin County requests Unit pricing) | 30000 | yard | No Bid | | \$2.00 | \$60,000.00 | \$5.00 | \$150,000.00 |
| | Disposal, (>300 31) (Collin County requests Officing) | 30000 | yaru | INO BIU | | \$2.00 | \$60,000.00 | \$5.00 | \$150,000.00 |
| | | | | | | | | | |
| | CATEGORY 4 TOTAL: | | | | | \$1,504.00 | <u>\$127,500.00</u> | \$507.00 | \$212,500.00 |
| 113 | CATEGORY 5 CULVERT INSTALLATION - Mobilization (Collin County | | | | | | | | |
| | requests Unit pricing) | 10 | job | No Bid | | \$1,500.00 | \$15,000.00 | \$1,500.00 | \$15,000.00 |
| 114 | CATEGORY 5 CULVERT INSTALLATION - Traffic Signage, Full Road | | | | | | | | |
| | Closure (Collin County requests Unit pricing) | 20 | day | No Bid | | \$400.00 | \$8,000.00 | \$500.00 | \$10,000.00 |
| 115 | CATEGORY 5 CULVERT INSTALLATION - Traffic Signage, Single Lane | | | | | | | | |
| 113 | Closure (Collin County requests Unit pricing) | 20 | day | No Bid | | \$400.00 | \$8,000.00 | \$500.00 | \$10,000.00 |
| 116 | CATEGORY 5 CULVERT INSTALLATION - Traffic Signage, Each | | | | | | | | |
| 1 110 | Intersecting Road (Collin County requests Unit pricing) | 20 | day | No Bid | | \$200.00 | \$4,000.00 | \$200.00 | \$4,000.00 |
| | | | | | | | | | |

| 117 | CATEGORY 5 CULVERT INSTALLATION - Traffic Control Flagging,(Collin | | | | | | | |
|-----|--|------|--------|---------|----------------------|------------------------|-------------------|---|
| 11/ | County requests Unit pricing) | 20 | day | No Bid | \$200.00 | \$4,000.00 | \$400.00 | \$8,000.00 |
| 118 | CATEGORY 5 CULVERT INSTALLATION - Culvert Installation for 12" to | | linear | | | | | |
| 110 | 18" culverts (up to 4' feet of cover)(Collin County requests Unit pricing) | 1000 | foot | No Bid | \$200.00 | \$200,000.00 | \$200.00 | \$200,000.00 |
| | | | | | | | | |
| 119 | CATEGORY 5 CULVERT INSTALLATION - Culvert Installation for 24" to | 1000 | linear | No Did | ¢220.00 | ¢220,000,00 | ¢200.00 | ¢200,000,00 |
| | 42" culverts (up to 4' feet of cover)(Collin County requests Unit pricing) | 1000 | foot | No Bid | \$220.00 | \$220,000.00 | \$300.00 | \$300,000.00 |
| 120 | CATEGORY 5 CULVERT INSTALLATION - Culvert Installation for 48" to | | linear | | | | | |
| | 72" culverts (up to 4' feet of cover)(Collin County requests Unit pricing) | 1000 | foot | No Bid | \$325.00 | \$325,000.00 | \$550.00 | \$550,000.00 |
| 121 | CATEGORY 5 CULVERT INSTALLATION - Culvert Installation for 84" to | | linear | | | | | |
| 121 | 96" culverts (up to 4' feet of cover)(Collin County requests Unit pricing) | 100 | foot | No Bid | \$425.00 | \$42,500.00 | \$700.00 | \$70,000.00 |
| | CATEGORY 5 CULVERT INSTALLATION - Each additional 2 feet of cover | | | | , | , ,,,,,,,,,, | , | , ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |
| 122 | during installation of 12" to 18" culverts (Collin County requests Unit | | linear | | | | | |
| | pricing) CATEGORY 5 CULVERT INSTALLATION - Each additional 2 feet of cover | 100 | foot | No Bid | \$75.00 | \$7,500.00 | \$100.00 | \$10,000.00 |
| 123 | during installation of 24" to 42" culverts (Collin County requests Unit | | linear | | | | | |
| | pricing) | 100 | foot | No Bid | \$100.00 | \$10,000.00 | \$150.00 | \$15,000.00 |
| | CATEGORY 5 CULVERT INSTALLATION - Each additional 2 feet of cover | | | | | | | |
| 124 | during installation of 48" to 72" culverts (Collin County requests Unit | 100 | linear | No Bid | ¢150.00 | ć15 000 0 0 | ¢275.00 | ¢27.500.00 |
| | pricing) CATEGORY 5 CULVERT INSTALLATION - Each additional 2 feet of cover | 100 | foot | INO RIO | \$150.00 | \$15,000.00 | \$275.00 | \$27,500.00 |
| 125 | | | linear | | | | | |
| | pricing) | 100 | foot | No Bid | \$250.00 | \$25,000.00 | \$350.00 | \$35,000.00 |
| 126 | CATEGORY 5 CULVERT INSTALLATION - Trench Safety Plan (Collin | | | | 44 400 00 | 444 000 00 | 44 000 00 | 440.000.00 |
| | County requests Unit pricing) | 10 | job | No Bid | \$1,100.00 | \$11,000.00 | \$1,200.00 | \$12,000.00 |
| 127 | CATEGORY 5 CULVERT INSTALLATION - Trench Safety Implementation | | linear | | | | | |
| | per OSHA regulations (Collin County requests Unit pricing) | 600 | foot | No Bid | \$2.50 | \$1,500.00 | \$5.00 | \$3,000.00 |
| 100 | CATEGORY E CHILLERT INSTALLATION. CL | | | | | | | |
| 128 | CATEGORY 5 CULVERT INSTALLATION - Stormwater Pollution Prevention Plan Preparation (Collin County requests Unit pricing) | 10 | job | No Bid | \$1,200.00 | \$12,000.00 | \$1,000.00 | \$10,000.00 |
| | revenues. The paration (commit county requests of the pricing) | 10 | JOD | | 71,200.00 | Ψ±2,000.00 | 71,000.00 | Ψ±0,000.00 |
| 129 | CATEGORY 5 CULVERT INSTALLATION - Stormwater Pollution | | | | | | | |
| | Prevention Plan Implementation (Collin County requests Unit pricing) | 10 | job | No Bid | \$2,500.00 | \$25,000.00 | \$1,500.00 | \$15,000.00 |
| | CATEGORY 5 TOTAL: | | | | \$9,247.50 | \$933,500.00 | \$9,430.00 | \$1,294,500.00 |
| | CATEGORY 6 GUARDRAILS - Mobilization (Collin County requests Unit | | | | 93,247.30 | 2233,300.00 | <i>93,</i> 430.00 | 71,23 4 ,300.00 |
| 130 | pricing) | 20 | job | No Bid | \$2,500.00 | \$50,000.00 | No Bid | l |
| 131 | CATEGORY 6 GUARDRAILS - Traffic Signage, Full Road Closure (Collin | | | | | | | |
| | County requests Unit pricing) | 40 | day | No Bid | \$500.00 | \$20,000.00 | No Bid | |

| 132 | CATEGORY 6 GUARDRAILS - Traffic Signage, Single Lane Closure (Collin | | | | | | |
|-----|--|------|--------|--------|--------------------|----------------|--------|
| 132 | County requests Unit pricing) | 40 | day | No Bid | \$400.00 | \$16,000.00 N | lo Bid |
| 133 | CATEGORY 6 GUARDRAILS - Traffic Signage, Each Intersecting Road | | | | | | |
| 133 | (Collin County requests Unit pricing) | 40 | day | No Bid | \$200.00 | \$8,000.00 N | lo Bid |
| 134 | CATEGORY 6 GUARDRAILS - Traffic Control Flagging, (Collin County | | | | | | |
| 134 | requests Unit pricing) | 40 | day | No Bid | \$200.00 | \$8,000.00 N | lo Bid |
| 135 | CATEGORY 6 GUARDRAILS - Remove and Replace Guardrail, (40-80 | | linear | | | | |
| 133 | linear feet). (Collin County requests Unit pricing) | 640 | foot | No Bid | \$100.00 | \$64,000.00 N | lo Bid |
| 136 | CATEGORY 6 GUARDRAILS - Remove and Replace Guardrail, (81-160 | | linear | | | | |
| 130 | linear feet). (Collin County requests Unit pricing) | 1920 | foot | No Bid | \$100.00 | \$192,000.00 N | lo Bid |
| 137 | CATEGORY 6 GUARDRAILS - Remove and Replace Guardrail, , (>160 | | linear | | | | |
| 157 | linear feet) (Collin County requests Unit pricing) | 6000 | foot | No Bid | \$100.00 | \$600,000.00 N | lo Bid |
| 138 | CATEGORY 6 GUARDRAILS - Remove and Replace Safety End (1-4 | | | | | | |
| 136 | ends) (Collin County requests Unit pricing) | 4 | each | No Bid | \$8,750.00 | \$35,000.00 N | lo Bid |
| 139 | CATEGORY 6 GUARDRAILS - Remove and Replace Safety End (5-10 | | | | | | |
| 139 | ends) (Collin County requests Unit pricing) | 10 | each | No Bid | \$8,750.00 | \$87,500.00 N | lo Bid |
| 140 | CATEGORY 6 GUARDRAILS - Remove and Replace Safety End (>10 | | | | | | |
| 140 | ends) (Collin County requests Unit pricing) | 20 | each | No Bid | \$8,750.00 | \$175,000.00 N | lo Bid |
| | | | | | | | |
| | CATEGORY 6 TOTAL: | | | | <u>\$30,350.00</u> | \$1,255,500.00 | |